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Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp

PRZEKROJE POPRZECZNE
SKALA 1:100

144,00

144,05

147,72

149,60

151,38

Puton = 1,97 m?
Prago = 0,00 m?

Liwms =4,40 m
L: = 5,00 m
Lo =470m

Puyion = 1,08 m?
Puago = 0,28 m?

Lioms =4,30 m
L = 5,00 m
Lo =330m

Puyop = 0,00 m?
Pragpu = 2,68 m?

Liunes =5,30m
L = 5,00 m
Lo =39m

Pk = 0,98 m?
Puasm =0,13 m?
Lhms = 6,10 m
L« =500m
L =450m

Puyiom = 1,86 m?
Pragon = 0,05 m*

Liwms =4,00 m
L: = 5,00 m
Lo =150m

Puytom = 0,46 m*
Py = 0,72 m?

Lhums = 5,40 m
Li  =500m
L. =370m

Puyion = 0,72 m*
Prag = 0,08 m?
Luuns = 6,30 m
Le =5,00m
Lo =460m

Puyion = 0,65 m?

Paugo = 0,00 m?
Luums = 6,60 m
L =500m
Li =470m



